DAILY LIVE MOCK TEST-4 PM
i Gtk

ST - 42 gt

FOR ALL EXAMS (PRE + MAINS)

MOCK



SITT T Ch 99T °oHr1

N

IR ISt gHY B sl |93

azT



MATHE MATICS By Pradeep Sir
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Q. 1) How many of the following numbers are divisible
by 3 but NOT by 9?
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o/ Q. 2) Which number among 11368, 11638, 11863 and
(I = ALt D™y ¢|i||22 12638 is divisible by 112
e —— 11368, 11638, 11863 3 12638 ¥ | &4 A =T 11 A
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2 2 Q. 3) Simplify the following expression.
G -b =(0owp) (b)) | Prpfufed avwe B wwe SR ~ ®

@ r7-35 X 7.35 = 2.25 X 2.25
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Q. 4) If the cost price of 28 oranges is equal to selling

2A =yB price of 24 oranges, then the profit percentage is:
' gfg 28 Hevl BT AN U 24 Wl & AT Teq F awaw
AlB=L %2 g, ot ey wfowa 8 —
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Q. 5) In what time will Rs.3,720 amount to Rs.5,282.4 at
12% simple interest per annum?
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a,b o, b a, & ¢ Q. 6) The third proportional to 7 and 63 is:
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70 (a)441
e g- (b) 625
b bc
Jave - Q (d) 576
q
K 63>
Gl e
=2
=\ S(o}
/;A(v




MATHCMATICS By Pradeep Sir

Q. 7) Avinash’'s Rs.50,000 monthly salary is and his

I g monthly expenditure is Rs.18,000. Radha’'s monthly
salary is Rs.60,000 and her monthly expenditure is
Rs.24,000. Find the ratio of Radha's savings to Avinash's
a=ric saving's.
_ 3ifa=mar &1 wfle 39 50,000 FUA 7 R IWHT AR
™ - & @d 18,000 FUA | YT BT WIS Aa 60,000 TTA 8 3R
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Q. 8) The average of all prime numbers between 32 and
69 is:

32 3 69 & o9 AWt 3ruTeg w@ail &1 a8
(b) 60

(c) 52.5

(d) 56.5
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Q. 9) 40 men can complete a work in 30 days. However, if
10 men leave the group, how many days will the group
take to complete the work?

—20 3TSH! TP HTH B! 30 H URT Y 9Dd ¢ BTAi®,
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(c) 45
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Q. 10) A can finish a job in 8 hours and B can finish the
same job in 12 hours independently. If they work
simultaneously, in how many hours can they do the same

job?
3» A 2 8bx A 5051 T BT 8 67 T U @ WS e B 3 T @
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Q. 11) Sara can finish a work in 18 days and Tara can
complete the same work in 15 days. Tara worked for 10

days and left the job. In how many days can Sara finish

5\/’ ‘6/ 5 |8 the remaining work alone?
= 9RT U@ 10 &I 18 &A1 § @1 #% a&dl 8 3R RS
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Q. 12) Ram can complete a piece work in 15 days, Rohan
in 25 days, and Rohit in 30 days. Rohan and Rohit
R = | worked together for 2 days and then Rohit was replaced
@ 0\\4\ > P by Ram. In how many days altogether completed? was
the work
o RS amf @I 15 ﬁ ﬁ 3R in%a 30
© F\ W Lcm - 50 ‘BT b0, - ok
| m & foar Y b ﬁf%a b"t TG I ﬁ Eavk &
() Rokut = 3“’ Rremes b A1 & g1 gam =
(a) 8 daysL){q
(b) 7 days
Ry +RA D02 = M g —
1287 (d) 12 days
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e Q. 13) A 252 m long train is running at a speed of 125
D= ‘2' S M km/h. What is the time (in seconds) in which it will pass a
man who starts from the engine running at the speed of

S = _Lg.g ‘!‘\")7\6 = ameli( 17 km/h in the same direction as that of the train?
——— 252 HIeY w4l gﬂusﬁﬂﬂ @1 7fd | 99 T8
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Q.15) If (x + ) = 6, and x > 1, find the value of

(*-3) —
ﬂﬁ(x+%) - 63T x> 1,a't(x2—x—‘2)mmmﬁl
(a) 12V10 e

(b) 18V2
c) 30V2
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Q. 17) If the measure of one angle of a right triangle is
30° more than the measure of the smallest angle, then

the measure of the smallest angle is:
g fedt aasiu & U DIV DI HIY TGH Bic HIUI
B AT A 30 HUG E, A AGA DI HIUIIATYE

(a) 90° —_—
(c) 75°

(d) 60°
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Q. 18) Select the correct statement about the properties

of a triangle.
%Zk Brys & ol & IR F WE YA BT 997 B
)Q (a) The sum of two sides is always equal to the third side.
C &l Y13t BT AR Wed Rt Yol | H giaT )
-, A (b) The sum of two sides is always less than the third
6 +b 7 C side.
~a &l Y3t BT AR Wea el Yol & T4 §1aT &1

o ? 7Q (c) The sum of two sides may be equal to the third side.
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Q. 19) A circular are whose radius is 4 cm makes an angle
45° at the centre. Find the perimeter of the sector

e e format.
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Q. 20) The curved surface area of a right circular cylinder
of height 56cm is 1408 cm®. Find the diameter of the
base of the cylinder.

56 AH! HUTS aTdl TP o a9 P IP AT
ﬁsﬁ%lam%mﬂmmmqqﬁq

(a) 0.04m [_.
(b) 8m -

(d) 0.008“1\_
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Q.22)f7 cot P = 24, then find sin P.
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Appeared students = 1800

C 1009

A4s "B S50
D 110% £ 58%

Passed students = 800

- 10%

Q. 24) The following pie charts show the data of the
number of appeared and passed students of class 12 in

sections A, B, C, D and E.

frafafaa arg a1 @am 12 & SHUTT A, B, €, D 3R E #
IufRT 3R I B ) W@ 1 2T feE 2

How many students failed in Section C?

AR ¢ # fHaa o vl g2

(a) 250 (Y E
(c) 200 (d) 400

o
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Q. 25) The distribution of monthly expenditure of
Ramesh on various items is shown in the following pie

chart.

fafir wel wv vy & uifye ag &1 fAavo Rafafaa urg
q1¢ | feamar mar g1

If the monthly income of Ramesh is Rs.45,000, then find
his total monthly expenditure (in Rs.) on housing and

transportation.

gfe 9 @t 9e 3T 45,000 9T 8, @ AN MR

URaed WX 9D o HINS AT (F9Y H) Fd BifoC|
ORENE" (b) 16,800
GREX( (d) 11,250
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